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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 (a) 6449 7.7 1.7 10 77.5 100
1 (b) 6441 3.7 0.5 4 93.6 99.9
1 (c) 6429 4.1 1.7 7 58 99.7
1 (d) 6366 1.9 0.8 4 47.8 98.7
1 (e) 6008 2.2 1.1 5 44.4 93.2

1 (e) SPaG 6039 1.8 0.6 3 61.2 93.6
2 (a) 6429 1.9 0.3 2 96.4 99.7
2 (b) 6222 1.3 0.8 2 65.9 96.5
2 (c) 6423 2.2 0.9 3 73.1 99.6
2 (d) 6334 1.9 0.3 2 97.2 98.2
2 (e) 6409 4.3 0.9 5 86.1 99.4
2 (f) 6354 5.9 2.5 11 53.2 98.5
2 (g) 6038 2.7 1.3 5 53.7 93.6

2 (g) SPaG 6071 1.8 0.6 3 61.4 94.1

0 
77.5 

93.6 
58 

47.8 
44.4 

61.2 
96.4 

65.9 
73.1 

97.2 
86.1 

53.2 
53.7 

61.4 

0 10 20 30 40 50 60 70 80 90 100

Question Title
1 (a)
1 (b)
1 (c)
1 (d)
1 (e)

1 (e) SPaG
2 (a)
2 (b)
2 (c)
2 (d)
2 (e)
2 (f)
2 (g)

2 (g) SPaG

Facility Factor % 

Q
ue

st
io

n 

GCSE Geography B 4241/01 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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UNIT 4241/01 – Unit 1 Foundation Tier 
 


Question Rationale Expected answer 
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 (vi) Explain why this is a 
suitable location for a new 
supermarket. 


Credit up to two valid statements each 
with one mark (to max 2). 
For either valid statement, credit a valid 
explanation for one additional mark. 
OR Credit one valid statement that is 
explained by a chain of reasoning. 


Near main road (1) Near dual carriageway  (1) 
so easy access for customers/deliveries (1) 
Not near any other large supermarket (1) so 
less competition (1) more profit / money (1) 
Large catchment area (1) so plenty of 
potential customers (1) 
Outside the urban boundary (1) so land may 
be cheaper (1) space available (1) 


 3   3 
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Question 1 



Sticky Note

This question requires candidates to use map evidence from the resource to support their answer. Understanding the term 'location' is key to answering this, but the command word 'explain' means that more than just descriptive points are required. Maximum marks could therefore not be achieved by just three simple statements.



Sticky Note

Both of these statements are appropriate location features but neither is elaborated to explain why they make it a suitable site. How could you elaborate on 'close to a main road' and 'no close supermarkets nearby' to turn them into explanations?












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question requires candidates to use map evidence from the resource to support their answer. Understanding the term 'location' is key to answering this, but the command word 'explain' means that more than just descriptive points are required. Maximum marks could therefore not be achieved by just three simple statements.




Sticky Note

They have used the map and key to good effect to correctly identify a locational feature of the new supermarket.



Sticky Note

The initial point is then elaborated by explaining how the location will benefit people living nearby and then they have extended their answer even further by pointing out the financial benefit of living near to a supermarket. This chain of reasoning is a very good way of achieving high marks in a question that requires explanation.












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question requires candidates to use map evidence from the resource to support their answer. Understanding the term 'location' is key to answering this, but the command word 'explain' means that more than just descriptive points are required. Maximum marks could therefore not be achieved by just three simple statements.





Sticky Note

They make a valid locational point but it is only worth 1 mark because no explanation is given. How could you develop this answer to achieve two extra marks?
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Theme 1: Challenges of Living in a Built Environment


Answer all parts of (a) to (d). There is a choice of questions in (e).


1. (a)	 Study the sketch map below. It shows the distribution of selected shops found in most UK


towns and cities.
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(vi) Study the location of the proposed supermarket on the map. Explain why this is a 
suitable location for a new supermarket. [3]












Question 1  


(c ) (i)  
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(c) 
 


(i) Explain why closing small 
convenience shops could affect 
the quality of life of elderly 
people. 


Credit up to two valid statements each 
with one mark. 
For each valid statement, credit a valid 
explanation for one additional mark. 
OR Credit one valid statement that is 
explained by chain of reasoning. 
(1+1+1+1) 


Greater distance to travel (1) so may take 
more time (1) 
More expensive (1) because of extra cost 
of travelling. (1) 
Less convenient. (1) because further 
distance to get to shops. (1) 
Fewer opportunities to socialise (1) 
because of less personalised service (1) 
Reduced access to shops (1) because of 
lack of a car. (1) 
May need to walk further (1) which could 
improve their health (1) 


2 2   4 
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Sticky Note

This question asks candidates to apply their knowledge of the term 'quality of life' to explain the impact of the closure of small local shops on a specific group of people.



Sticky Note

A valid point is made about the fact that some elderly people do not have a car which is then elaborated for a second mark through the explanation as to how it limits their access to shops. However, they do not develop it with an explanation as to exactly how their quality of life would decrease. Improve this answer by adding two development points, or making a different point and then adding an elaboration.












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question asks candidates to apply their knowledge of the term 'quality of life' to explain the impact of the closure of small local shops on a specific group of people.




Sticky Note

The candidate has recognised that closing small shops may increase the distance travelled for one mark. They gain a second mark by explaining the impact this will have. Had they gone on to develop this by saying exactly how their health would be affected, it would have gained an extra mark.



Sticky Note

They have used the information given in the speech bubble to good effect by identifying the problem of loneliness.



Sticky Note

If they had not already achieved maximum marks for this question, the point about the cost of having to use public transport is equally valid. 












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question asks candidates to apply their knowledge of the term 'quality of life' to explain the impact of the closure of small local shops on a specific group of people.





Sticky Note

They have identified two features of the location of the supermarket, but this is not what the question is about. They have not gone on to explain how this would affect elderly people other than a vague mention of transport problems. This answer is therefore only worth 1 mark for a simple statement.
How could these locational points be made more relevant to the question about quality of life?
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	 (c)	 Many small convenience shops have closed in recent years. An elderly resident gives her 


viewpoint.


I used to enjoy my daily walk to see the grocer. 
We used to talk for ages. I find it difficult to get 
to the large supermarkets.


	 (i)	 Explain why closing small convenience shops could affect the quality of life of 
elderly people.	 [4]


	


	


	


	


	


	


	


	


	  


		
		












Question 1 


(d)  
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(d)  Explain why people living 
nearby may have mixed 
feelings about it being built. 
You should include both 
positive and negative points in 
your answer. 


Levels of response marking.  Work upwards 
through the levels. 
 
Award 0 marks if the answer is incorrect 
or irrelevant 
 
Level 1:  Simple statements (1 mark) 
 
Level 2:  Simple statements are briefly 
elaborated. (2/3 
marks) 
 
Level 3:  Detailed and specific elaboration 
of initial statement. (4 marks) 
 
Max Level 2 if only positive or negative 
points made. 
 
 
 
 
 


Description: 
Positive 
- better choice of items/longer opening 
hours/cheaper prices 
Negative 
- more noise/more traffic/may use new 
land 
Simple elaboration: 
Positive 
- better choice so more interesting food to 
buy-longer opening hours so more 
convenient/cheaper prices so save money 
Negative 
- roads busier so more noise/more 
dangerous for children playing 
Detailed elaboration: 
Positive 
- better choice so more interesting food 
means can have greater cultural diversity. 
- longer opening hours so more 
convenient so more leisure time 
- cheaper prices and may have petrol 
station selling cheap petrol. 
- 24 hour deliveries mean more noise at 
night 
- value of house may go down 
- more dangerous roads so may need new 
crossing built 
- visually not very attractive. 
 


2 2   4 
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Sticky Note

This question is marked using a levels of response mark scheme. Candidates need to refer to both positive and negative points in order to reach Level 3 and their answers should be detailed with specific elaborations of the points made. A good answer should recognise that the question is referring to the impact on local people i.e. the south-east corner of the map in the resource, so generalised statements about the local authority view are not relevant here.



Sticky Note

A simple point is being made here about the benefit of a large supermarket over smaller convenience shops, but it has not been elaborated. 
Why is this a positive feature?



Sticky Note

Although this point does not relate directly to residents' views, the map shows that there are a few small shops in this area, so the effect on shopkeepers was acceptable. The initial statement reaches Level 2 when it explains there will be 'less profit' and extended it with a further elaboration with 'may have to shut down'. To reach Level 3 at this point there needs to be greater discussion of the effects on the people such as 'so they will lose their jobs' or 'have to move away from the area'.



Sticky Note

How does it disturb them?




Sticky Note

Is this a positive or negative effect?



Sticky Note

The candidate has made a good attempt to explain both positive and negative points, but none of them are sufficiently elaborated upon to reach Level 3.
Mark was Level 2=3












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question is marked using a levels of response mark scheme. Candidates need to refer to both positive and negative points in order to reach Level 3 and their answers should be detailed with specific elaborations of the points made. A good answer should recognise that the question is referring to the impact on local people i.e. the south-east corner of the map in the resource, so generalised statements about the local authority view are not relevant here.




Sticky Note

The candidate has looked carefully at the map and is showing an excellent understanding of the implication of building outside the urban area. The initial statement is developed with sound reasons and the answer has reached the top of Level 2 at this point.



Sticky Note

They go on to make a point about the positive benefits and again develop it with reasoned explanation and elaboration. The initial reference to 'jobs' is a Level 1 simple statement. They have explained the benefits of this with 'earn money' and gone further by elaborating to say exactly what benefit this would have through their use of the term 'disposable income'. This is a good example of a chain of reasoning that can achieve maximum marks.



Sticky Note

Mark was Level 3=4












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 



Sticky Note

This question is marked using a levels of response mark scheme. Candidates need to refer to both positive and negative points in order to reach Level 3 and their answers should be detailed with specific elaborations of the points made. A good answer should recognise that the question is referring to the impact on local people i.e. the south-east corner of the map in the resource, so generalised statements about the local authority view are not relevant here.





Sticky Note

The candidate has correctly identified that having a new supermarket nearby will enable easier access. This is a simple Level 1 statement. However, just including the phrase 'better standard of living' is not adequate enough to reach Level 2 without further elaboration.
Think of at least two ways in which this point could be elaborated to reach Level 3.



Sticky Note

Again, the candidate makes a basic point about the amount of noise but does not go on to explain the effects on local people. 'Poorer quality of life' needs to be explained with reference to specific impacts if it is to reach Level 3. They could have discussed the effect of extra traffic such as making local residents late for work, or deliveries keeping people awake at night.



Sticky Note

Mark was Level 2=2
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	 (d)	 Study the map below. It shows the location of a proposed large supermarket.
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		  Explain why people living nearby have mixed feelings about it being built. You should 
include both positive and negative points in your answer.	 [4]


	


	


	


	


	


	


	


	


	


	


	


	











